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R =2:C X H2 X (¢1 + ¢2)
W= wl+ w2 + w3 + w4 + q
wl = y1X (B-Hl—n/4X ¢1%) X ¢2
w2 = wp X ¢2

W3 = n/AX $1°X ywX 62

w4 = y2XBXH2X ¢2
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y1: F#E&E B -oWAAREE R = 18.0 kN/m* (L L)
y 2 BEREERO 1o B AT R = 16.0 kN/m’
yw: KOBEAIAFEEE = 9.8 kN/m’
wp: FEEEEM ImYYOEE = 3.0 kN/m
q : _k#kfrE = 10.0 kN/mi
C : BEfEE ot okEH = 27.0 kN/md  (JFHuA%)
F : &4 = 1.2
B : EHLJEMRE = .04 m
D: E#HEOLHY = 1.50 m
o1 EFHEENE = 1.04 m
o1 EHEENE =  1.00 m
H1l: EHEEEETOLHEY = 254 m = 1.50 + 1.04
H2: E#% L HEE OME = 0.68 m
b2 HEMHEE SRR = 0.8 m
wl = 18.0 X ( 1.04 X 2.54 —gx/4 X 1.04 %) x 0.8
= 28.4 kN
w2 = 3.0 X 0.9 = 2.6 kN
w3 = /4 X 1.04 % x 9.8 X 0.88 = 7.3 kN
w4 = 16.0 X 1.04 X 0. 68 X 0. 88 = 10.0 kN
W = 28.4 + 2.6 + 7.3 + 10.0 + 10.0
= 583 kN
F-W = 1.2 X 58.3 = 70 kN
R = 2 X 27.0 X 0.68 X ( 1.04 + 0.88 ) = 70.5 kN
R = F-W 0.K
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